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2N30H+H2804 —> NaQSO;; +2H20
2mole : 1mole

number of mmoles of NaOH g

number of mmoles of H SO, 1
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Stoichiometry of Precipitation Reactions

S DAl ae Wla 3,5 LS ga <¥olaall (o g osill 138 b Jall 4y 5k
Y gall 230 e BalELY g Y gall dae Slad)

n
M=— = n=Mxv
\Y

Example:

Calculate the mass of solid NaCl that must be added to 1.5 L
of 0.10 M AgNO; solution to precipitate all the Ag” ions in
the form of AgCl1?

NaCl, + AgNO, ., = AgCl, + NaNO,,

fAgCl 2 e Ag' <l Jal€ cun i1 0.10M 38 55 1.5 L1



Example:
AgNO; a4 Alecliiad
NaCl,, + AgNO,, , = AgCl,, + NaNO,
m=7? M=0.10M
V=135L
n =MxV

ApNO,

=0.10x 1.5=0.15 mol

1 mol of AgNO; — 1 mol of NaCl
0.15 mol of AgNO; — Xmol ofNaCl
= n,o =0.15 mol

= m,,q =nxMw
= 0. + 35. |
0.15 x (23 + 35 45)‘\* Jsaadl ye
=8.77¢g S s
Example:

Calculate the mass of PbSO, formed when 1.25 L of 0.050
M Pb(NO3); and 2.0 L of 0.025 M Na,SO, are mixed?

Pb(NO,),.., + Na,SO, ., = PbSO,, + 2NaNO

2(aq) 3(aq)

™Na>SO4 e 0.025 M 58S 5 2.0 L 4ena Jslaw aa M



Solution:

e Ot Y ge 22e e I Cile glee da g ad Balldl JHadl e JaaDU

-(reactant
Pb(NO, ), .., + Na,SO, ., — PbSO,, + 2NaNO, _,
M=0.050M M=0.025M
V=1.25L V=20L
Npnnoy, = Mx V =0.05x1.25=0.0625 mol
0.0625 — 0.0625
A5 sall Aalaadl e PB(NO3); Jalee %
Ny 50, = Mx V =0.025x 2.0 = 0.005 mol Jray)
» (L.R)
905 _ 505
4555 sall Ablead e Na;SOy Jalae > 1
Y mol of Na,SO4 — 1 mol of PbSO,
0.05 mol of Na,SO; —» X mol of PbSO,

= N0, = 0.05 mol
= My, =nxMw=0.05x 3‘93.3 =152g

sV Jsaall e






